| 02 & E il 1
B FERAZ BRI E S sk (Buk L) T S & E . .
X i
T *x = A I ¢
A _ETRET N
ESI 1 It = 0
X 7 G| 5,995,000 M
2 K % H M
( NHEBEE ) ( M) ( M)
THEHEK H [ H( 5 B% H )
T F -8 1T B
NiE SERHIRR A H SER I BR A H
HAERE  N=15E
E it « R OKRH) ¢ 100mm X 7. 5kW N=1& = "
- A, AR 15K
(L)
XA AR
7 I S




G- R
— — ( BT M)
3= it A ] (1 [m| H ) VAN (2 [ A )
7 H o - e A o - i i~ o . i =l
" e e & = 1 o Sy e & = 1 ek Sy
T % 0 @ : (10)= (13)= (19)= (22)=
® M*®/@) | (10~ 1o 19%6)/() | (19)-(0
T. 5 fili # 7 5, 450, 000
KT HFH 3, 420, 000
ey T2y 2, 030, 000
e T
WEEBL MM | 9-0)%0.10 | G=@0.10 | ©=D%0. 10 (= (14)= (1n= 20)= (23)=
(10)*0. 10 1n-®) (16)*0. 10 (19)*0. 10 (22)%0. 10
TR B8R 545, 000
KT %= #H 342, 000
[y T2y 203, 000
TifE T
T o 3= (1)+(2) 6)=(4)+(5) (©)=(1)+(8) (12)= (15)= (18)= (21)= (24)=
(10)+(11) (13)+(14) (16)+(17) (19) +(20) (22) +(23)
T %= # it 5, 995, 000
KT HFH 3, 762, 000
Bt T 2,233, 000
e T




K K

1|||Tl|

HO0-0001

HH - TR - i T4 PR - FEEX S & #
*k RTHAp ok ok
e
| 1,276, 269
BRIt
; 606, 000
N
| 606, 000
Z Dty
w7 s R
¢ 100X 7. kW X 2%
‘ K7 BE=1nR
1 Jiti %
P IR
: 1,276, 269
R
| 425, 100
Z D

ozfééﬁﬁfﬁﬁﬁ&fooozféﬁ%ﬂ




kk AR

1|||Tl|

g:/\ >X< >X< W%Ri% H0-0002

FrH - TR - Jii T4 b - RIS H =% DA 4 Gl {irg =
1 87 af FEfT)

KU BEE=1R

PKER S=9.5m
1 e

K7 PafE (B TR )EUn)
1 JitiEx

A &
52V 300, 309

=
WA A Rl IEE (FEP) 955k
55 m
=77 W R OVEE AR
110 m
PHER AT Ry — NGER
65 m
=
ERERT
IRERHE (B2 U
1 i %

02*%5’@**%%%*0002*%@




) 3k ZIKII:?:/\ k k W%Ri% E{0-0003

Pl - THE - Jiti T4 - BRI X Sy H B | H L EN % fi =
i
i = 550, 860
n
e
VARES VAN Voin
PEfF, 2000kg/FLLT
| 2 e
ELEER R
606, 000
LR
606, 000
L S A
3 606, 000
R =
1 1,276, 269
szt (R57)
i 367, 000
eSS
367, 000

02f§%ﬁifﬁ§ﬁ&fooozf§5%n



H0-0004

Pl - THE - Jitn TAA - BRI IX Sy H B | H L EN % fi
TR -
| 1, 643, 269
BUGE I (R5)
| 393, 000
ERZL ik
| 393, 000
PafrREE
3 81, 000
[z Tt
§ 841, 000
< oA
§ 2,117, 269
At 2
§ 76, 000
CHRUlE
2,799, 269
— i B
619, 731

ozfﬁéﬁﬁfﬁﬁﬁ&fooozféﬁ%ﬂ




* ok RLHEH ** FRE
%ﬁ%zgﬁﬁ-I@-mI%%-%@%B% 5 A & % i
FIPRAEE, |
1, 000
;%%@%%
620, 731
TS
3, 420, 000

ozfﬁéﬁﬁfﬁﬁﬁ&fooozféﬁ%ﬂ




H0-0002

+H- =
kok BB T EHE % % PNEIRE
FrH - TR - i TP - RIS H B | H L EN % fi
ok AT TR o
EERRE
§ = 546, 137
HEKISEW T
§ 52V 283, 553
LT
§ = 278, 608
PRI Y (A1)
e W
| —3
Pl
27 m3
BRI L
TEX Sy b, H:
| —3
PR L
3 26 m3
TRV R
T W CEBE- R AR Y LET)
| —=

02 Ffi % 0003 5 7]




H0-0003

ik e
N

FrH - TR - Jii T4 b - RIS B | H L EN % fi
| ES7E ST
27 m3
2Ny
3 27 m3
HEN YT T
52V 4,945
TOKE BN T T GEKE)
HEFT100A
1 m
R T
3 iy 87, 584
FREIUE LT
3 iy 76, 056
EEhR E
SHAERRCRE R - 727 7 MR, 727 7 MRS < 1
5cml;ﬂ:
| — X
eyl
TAT 7 AR
| 132 m
SRR A
SRR 727 7 MR, SRR - 5em
| 3t

ozfééﬁﬁfg?ﬁ&fooogfﬁﬁ%ﬂ




%lljll
oy

Tl - TR - fi TAPR - B REIX ) SR 4 % I
1 L R AR
TAT 7 AR
| 40 m2
SRR AL T
3 = 11, 528
TR
TR - 7277 bk
—5
O
; 2 m3
WALy
TR 7 A7 7 Mk
b
| oyt (t)
| 5 ¢
e T
§ = 175, 000
SEIEEEL T
= 175, 000
AR S i
—X

ozfééﬁﬁfg?ﬁ&fooogfﬁﬁ%ﬂ




ik e

HO0-0005

FrH - TR - Jii T4 b - RIS i w7 & #n fi
| A E A BB
14 AH
RS
= 363, 864
e T
1 = 363, 864
A7 7 K EE T
i 2V 363, 864
TR (05)
Ftﬂﬁ'gfﬁ FR¥E A Ty vv-7v RC-40, {1 1V
20mm
| —3
JeE A (B )
| BEITyv=7 RC-40
i 40 m2
A OF)
SRR TR b7 FE AR Ay M=40, fE B
Omm
3 —
b A (A
BLEE R M40
i 40 m2
I (- %)
FEBRRERE 458 (2. 3024 _E2. 40t/m3Aits) , 48}
Bk, SIARIE  50mm, X0 B - 1. AmA (18 "
B

ozfiﬁﬁf?ﬁ&fooogf‘é’ufﬁﬂ




H0-0006

S Hr 5
P

HH - T - i DA - EEEIX S &= | H L 4 %A fii
1 Fe e (BB - BF D)
SEYINE B L. AmAig (F EES0mmEL )
| KA (2. 3084122, 40t/m3ATii)
40 m2
FK g (- 1)
FEERRESH - 4518 (2. 3024 L2, 40t/m3Aig) , $48}
Bk, SiARIE : 30mm, X0 B - 1. AmA (168
| —
F e (B8 - BF D)
SESINE B L. AmAig (F EES0mmEL )
KAE (2. 3084 2. 40t/ m3ATH)
80 m2
R
910, 001
B gk
H2T)
223, 000
BT &
223, 000
i T gy
| 1,133, 001
L B (
T 1
3 524, 000
B e B S
524, 000

ozfééﬁﬁfg?ﬁ&fooogfﬁﬁ%ﬂ




H0-0007

Pl - THE - Jitn TAA - BRI IX Sy B | H L EN % fii
A
3 1, 657, 001
TR
1, 657, 001
ik B
3 371, 999
PRI RAE S |
| 1,000
| B
s i
372, 999
T A A%
2, 030, 000

ozfﬁéﬁﬁfg?ﬁﬁfooogfﬁﬁ%ﬂ




	機械+土木.pdf
	機械+土木（公表）
	土木（公表）

